

HLC Accreditation Evidence

Title: 2016-2017 Athletics Community Service

Office of Origin: Athletics

What	Date	Where	# of Athletes	Total hours per Athlete Total Ho	
Baseball Team Community Service					
Labor Day Parade	09/05/16	Hoisington, KS	12	1.5	18
LIFE - Family Building Program at Lincoln School	10/11/16	Great Bend, KS	5	3	15
LIFE - Family Building Program at Lincoln School	10/17/16	Great Bend, KS	5	3	15
LIFE - Family Building Program at Lincoln School	10/25/16	Great Bend, KS	5	3	15
LIFE - Family Building Program at Lincoln School	11/01/16	Great Bend, KS	5	3	15
LIFE - Family Building Program at Lincoln School	11/07/16	Great Bend, KS	5	3	15
LIFE - Family Building Program at Lincoln School	11/14/16	Great Bend, KS	5	3	15
					0
					0
					0
					0
					0
					0
					0
					0
					0
					0
Total Hours					108
V II					
Volleyball Team Community Service					
Labor Day Parade	09/05/16	Hoisington, KS	14	1	14
Helping member of the community move	02/10/17	Great Bend, KS	7	14	98
					0
					0
					0
					0
					0
Total Hours					112
Softball Team Community Service					
	20/0=/:-				
Labor Day Parade	09/05/16	Hoisington, KS	12	2	24
Raked leaves	11/30/16	Great Bend, KS	15	7	105
Helped in Shafer Art Gallery when preschoolers visited	12/01/16	Great Bend, KS	1	1	1
Boxes of Love at Volunteers in Action. Boxed up the items for the Volunteers in Action group at the	02/08/17	Great Bend, KS	16	1.5	24
					0
					0
					0
					0
					0
Total Hours					154

Verwided finish line coverage for the GBKS cross country meet 98/01/16 Great Rends, KS 6 4 74	Sports Medicine Community Service					
ireat Bend High School Football	Provided finish line coverage for the GBHS cross country meet	09/01/16	Great Bend, KS	6	4	24
Street Bend High School Football 3 3 9 3 9 3 9 3 7 5 2 2 2 2 2 2 2 2 2	Great Bend High School Football	09/02/16	Great Bend, KS	1	3	3
Name	Great Bend High School Football	09/09/16	Great Bend, KS	4	3	12
10/21/15 Great Bend, KS 3 3 9	Great Bend High School Football	09/23/16	Great Bend, KS	3	3	9
	Barton County Bag-A-Bite	10/16/16	Great Bend, KS	10	2.5	25
Mac and tractivities event for Great Bend youth) 12/05/16 Great Bend, IS 10 3 3 3 3 3 3 3 3 3	Great Bend High School Football	10/21/16	Great Bend, KS	3	3	9
Hiltop Hoops Classic 01/23/17 Great Bend, KS 2 4.5 9	Helped the Great Bend Recreation Commission set up for their annual Santa's Workshop (a crafts					
Maching Hoops Classic 01/24/17 Great Bend, KS 1 6 6 6 6 6 6 6 6 6	and activities event for Great Bend youth)	12/05/16	Great Bend, KS	10	3	30
### ### #### #########################	Hilltop Hoops Classic	01/23/17	Great Bend, KS	2	4.5	9
### ### #### #########################		01/24/17		1	6	6
Make William				2	6	12
Total Hours M & W Golf Community Service Wounded Warrior Golf Tournament - Custer Hill Golf Course 808/27/16 809/05/16 809/					4	
Now		,,				0
Now						0
Now						0
M & W Golf Community Service 08/27/16 Junction City 27 11 297 14 297						0
Nounded Warrior Golf Tournament - Custer Hill Golf Course 08/27/16 Junction City 27 11 297 47.25	Total Hours					155
Wounded Warrior Golf Tournament - Custer Hill Golf Course Labor Day Parade 808/27/16 99/05/16 Hoisington 21 2.25 47.25 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	M & W Golf Community Service					
Labor Day Parade 09/05/16 Hoisington 21 2.25 47.25 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	•	08/27/16	Junction City	27	11	297
Total Hours Total			•			
Total Hours Total	Edbor Bay Farade	03/03/10	1101311161011	21	2.23	
Men's Basketball Community Service Labor Day Parade O9/05/16 Hoisington 15 2 30 Bag a Bite fundraiser at the Trinity United Methodist Church who are partnering with NUMANA O9/15/16 Great Bend 16 2 32 Moving the Elderly Help set-up for Central KS Library Systems book sale CKLS Book Fair Clean Up 10/13/16 Great Bend 7 1.5 10.5 CKLS Book Fair Clean Up 10/13/16 Great Bend 9 1 9 Numana Clean Up 10/16/16 Great Bend 14 1 1 14 0 0 0 0 0 0 0 0						0
Men's Basketball Community Service Labor Day Parade O9/05/16 Hoisington 15 2 30 Bag a Bite fundraiser at the Trinity United Methodist Church who are partnering with NUMANA O9/15/16 Great Bend 16 2 32 Moving the Elderly Help set-up for Central KS Library Systems book sale CKLS Book Fair Clean Up 10/13/16 Great Bend 7 1.5 10.5 CKLS Book Fair Clean Up 10/13/16 Great Bend 9 1 9 Numana Clean Up 10/16/16 Great Bend 14 1 1 14 0 0 0 0 0 0 0 0						0
Men's Basketball Community Service Labor Day Parade O9/05/16 Hoisington 15 2 30 Bag a Bite fundraiser at the Trinity United Methodist Church who are partnering with NUMANA O9/15/16 Great Bend 16 2 32 Moving the Elderly Help set-up for Central KS Library Systems book sale CKLS Book Fair Clean Up 10/13/16 Great Bend 7 1.5 10.5 CKLS Book Fair Clean Up 10/13/16 Great Bend 9 1 9 Numana Clean Up 10/16/16 Great Bend 14 1 1 14 0 0 0 0 0 0 0 0						0
Men's Basketball Community Service Labor Day Parade O9/05/16 Hoisington 15 2 30 Bag a Bite fundraiser at the Trinity United Methodist Church who are partnering with NUMANA O9/15/16 Great Bend 16 2 32 Moving the Elderly Help set-up for Central KS Library Systems book sale CKLS Book Fair Clean Up 10/13/16 Great Bend 7 1.5 10.5 CKLS Book Fair Clean Up 10/13/16 Great Bend 9 1 9 Numana Clean Up 10/16/16 Great Bend 14 1 1 14 0 0 0 0 0 0 0 0						0
Men's Basketball Community Service Labor Day Parade O9/05/16 Hoisington 15 2 30 Bag a Bite fundraiser at the Trinity United Methodist Church who are partnering with NUMANA O9/15/16 Great Bend 16 2 32 Moving the Elderly Help set-up for Central KS Library Systems book sale CKLS Book Fair Clean Up 10/13/16 Great Bend 7 1.5 10.5 CKLS Book Fair Clean Up 10/13/16 Great Bend 9 1 9 Numana Clean Up 10/16/16 Great Bend 14 1 1 14 0 0 0 0 0 0 0 0						0
Men's Basketball Community Service Labor Day Parade O9/05/16 Hoisington 15 2 30 Bag a Bite fundraiser at the Trinity United Methodist Church who are partnering with NUMANA O9/15/16 Great Bend 16 2 32 Moving the Elderly Help set-up for Central KS Library Systems book sale CKLS Book Fair Clean Up 10/13/16 Great Bend 7 1.5 10.5 CKLS Book Fair Clean Up 10/13/16 Great Bend 9 1 9 Numana Clean Up 10/16/16 Great Bend 14 1 1 14 0 0 0 0 0 0 0 0	Tabel Harris					244.25
Labor Day Parade 09/05/16 Hoisington 15 2 30 Bag a Bite fundraiser at the Trinity United Methodist Church who are partnering with NUMANA 09/15/16 Great Bend 16 2 32 Moving the Elderly Help set-up for Central KS Library Systems book sale 10/05/16 Great Bend 7 1.5 10.5 CKLS Book Fair Clean Up 10/13/16 Great Bend 9 1 9 Numana Clean Up 10/16/16 Great Bend 14 1 14 0 0 0 0 0 0	Total Hours					344.25
Bag a Bite fundraiser at the Trinity United Methodist Church who are partnering with NUMANA O9/15/16 Great Bend O9/17/16 Great Bend	Men's Basketball Community Service					
Moving the Elderly Help set-up for Central KS Library Systems book sale 10/05/16 Great Bend 7 1.5 10.5 CKLS Book Fair Clean Up Numana Clean Up 10/16/16 Great Bend 9 1 9 10/16/16 Great Bend 14 1 1 0 0 0 0 0 0 0	Labor Day Parade	09/05/16	Hoisington	15	2	30
Help set-up for Central KS Library Systems book sale 10/05/16 Great Bend 7 1.5 10.5 10/13/16 Great Bend 9 1 9 Numana Clean Up 10/16/16 Great Bend 14 1 1 14 0 0 0 0 0 0	Bag a Bite fundraiser at the Trinity United Methodist Church who are partnering with NUMANA	09/15/16	Great Bend	16	2	32
CKLS Book Fair Clean Up 10/13/16 Great Bend 9 1 9 9 1 1 9 10/16/16 Great Bend 14 1 14 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	Moving the Elderly	09/17/16	Great Bend	7	2	14
CKLS Book Fair Clean Up 10/13/16 Great Bend 9 1 9 9 1 1 9 10/16/16 Great Bend 14 1 14 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	Help set-up for Central KS Library Systems book sale	10/05/16	Great Bend	7	1.5	10.5
Numana Clean Up 10/16/16 Great Bend 14 1 14 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	CKLS Book Fair Clean Up		Great Bend	9	1	9
	Numana Clean Up		Great Bend	14		14
	·	· •				
						0
						0
						0
$^{ ext{II}}$						0

					0 0
Total Hours					109.5
Women's Basketball Community Service					
Labor Day Parade	09/05/16	Hoisington	16	1	16
Bag a Bite fundraiser at the Trinity United Methodist Church who are partnering with NUMANA Park Elementary School - Spent time participating in outdoor activities with Kindergarden and 1st	09/15/16	Great Bend	15	2	30
graders.	09/30/16	Great Bend	15	1	15
Riley Elementary School - Walking School Bus	10/04/16	Great Bend	10	1	10
Walking School Bus at Riley Elementary School	10/11/16	Great Bend	10	1	10
Barton County Bag A Bite	10/16/16	Great Bend	16	1	16
					0
					0
					0
					0
					0
					0
					0
					0
					0
					0
Total Hours					97
Tennis Community Service					
· · · · · · · · · · · · · · · · · · ·	11/11/16	Ellis and MC	4	2	0
Students speak about their "new" lives in Kansas and BCC with Ellinwood HS Spanish classes.	11/11/16	Ellinwood, KS	4	2	8
Cleaned up elderly lady's yard - raked, mowed, trimmed, edged and hauled off	11/14/2016	Ellinwood, KS	15	3	45
Cleaned up tennis courts, removed pine needles, acorns, trimmed and bagged debris	1/24/2017	BCC Campus	4	2	8
Helping member of the community move (Robin Garret)	01/28/17	Great Bend, KS	4	2	8
					0
					0
					0
Total Hours					69
Dance Community Service					
Labor Day Parade	09/05/16	Hoisington, KS	14	1.5	21
Whitetail Auction	09/24/16	Great Bend	5	5.5	27.5
TVINCE CONTINUE CONTI	03/27/10	Great Bella	5	5.5	0
					0
					0
					0
					U
T-1-1 H					U
Total Hours					27.5

Cheer Community Service					
Labor Day Parade	09/05/16	Hoisington, KS	19	1.5	28.5
Motorcross Shootout	09/24/16	Great Bend	20	6	120
Cheerleaders had lunch and recess with Yesenia Pulido from Riley Elementary. Yesenia won the	he				
good behavior award from last semester. She wants to be a Barton Cheerleader so for her pri	ize				
and award she got to have lunch and recess with two Barton Cheerleaders and learn some che	eer				
skills.	01/18/17	Great Bend	2	1	2
					0
					0
					0
Total Ho	ours				0 122
Women's Soccer Community Service					
Barton County Bag-A-Bite for Numana a non-profit organization helping to feed third world					
countries	10/16/16	Great Bend, KS	14	2	28
					0
					0
					0
					0
					0
Total Ho	ours				28
Men's Soccer Community Service					
Hoisington Labor Day Parade	09/05/16	Hoisington, KS	28	2	56
Bag a Bite	10/16/16	Great Bend, KS	24	2	48
Speak at Great Bend Middle School about our program's different cultures	02/08/17	Great Bend, KS	18	1	18
					0
					0
					0
Total Ho	ours				122
Wrestling Community Service					
Labor Day Parade	09/05/16	Hoisington	24	2	48
Helped a family move to a new home	09/05/16	Great Bend	11	1.5	16.5
Boxing up meals for Rwanda, Africa and Haiti for Hurricane Matthew Relief Project	10/16/16	Great Bend	10	2	20
Helped the Optimist Club sell Christmas trees	11/28/16 - 12/9/		20	2	40
	, -,				0
					0
					0
					0
Total Ho	ours				124.5

16-17 ALL BCC TEAMS TOTAL HRS: